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DEFINITION The volume of a solid of integrable cross-sectional area A(x)
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Volume by Disks for Rotation About the x-axis
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Volume by Washers for Rotation About the x-axis
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Exmmlob.s :

X
l) (EKAMPLE 4) The region between the curve y = Vx,0 = x = 4, and the x-axis is

revolved about the x-axis to generate a solid. Find its volume.

55\ N/)-/*‘)//a} )J"q) /N/J/‘y,d—&/' (ﬂf@
W)&«QWMU“JL/'JP)")“/\Z\"—’ e

[ o) AP -
,,u//»-y/j&\u_,f ,-t.e,«f]\\e o ke N @ //’;Fﬂﬂ;? |
v/)u] Co YN Yy s ) @ . ve, & W
Y = 'f(’QP/)‘?Q

Y

N\_/,v,»f) = Y =3
) ko RTFY = fEme AP AL SO0 L

— —
~7<%,’3L{132¢d\~a s }0)) DI P P sop (V)

p 2 4
»\/:fyf(&)of%: n’%,]: s T
O o

Lo Woshor w20 (LA 1) V) Np A - ZJLP@P,J‘-
<///‘)4J)du YY) Mw;»uzxﬁx/«!ww—/‘)) rid)zo w50
K -’ O—"JQ{EW Wot]la”f,-—d.,fw&/'JW\,_,
2) (ExAMPLE 5) The circle
24,2 = 2

is rotated about the x-axis to generate a sphere. Find its volume.
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by y = \/x and the lines vy = 1,x = 4 about the line y = 1,
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LI) (EXAMPLE 9) The region bounded by the curve y = x> + 1 and the line y = —x + 3
is revolved about the y-axis to generate a solid. Find the volume of the solid.
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;) (EJ{HMPLE 10 ) The region bounded by the parabola v = x* and the line y = 2x in the
first quadrant 1s revolved about the y-axis to generate a solid. Find the volume of the

solid.
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